/NG (€10,100,1000)

w4 HH1: i)
10.464 x 100 = 8.014 x 100 =
3.191 x 1000 = 7223 x 10 =
1.809 x 10 = 59x10=
8.533 x 100 = 2.098 x 10 =
8.793 x 100 = 9.757 x 1000 =
9.526 x 10 = 5.208 x 1000 =
6.24 x 10 = 10.757 x 1000 =
4.079 x 100 = 10.005 x 1000 =
8.058 x 100 = 4.048 x 10 =
9.586 x 1000 = 6.965 x 1000 =
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%ZE

/N3 10,100,1000)

4 H391: Z)
10.464 x 100 = 1046.4 8.014 x 100 = 801.4
3.191 x 1000 = 3191 7223 x 10 =72.23
1.809 x 10 = 18.09 59x10=159
8.533 x 100 = 853.3 2.098 x 10 = 20.98
8.793 x 100 = 879.3 9.757 x 1000 = 9757
9.526 x 10 = 95.26 5.208 x 1000 = 5208
6.24 x 10 = 62.4 10.757 x 1000 = 10757
4.079 x 100 = 407.9 10.005 x 1000 = 10005
8.058 x 100 = 805.8 4.048 x 10 = 40.48
9.586 x 1000 = 9586 6.965 x 1000 = 6965
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